Mathematica Bohemica

Augusta Raţiu; Nicuşor Minculete Several refinements and counterparts of Radon's inequality

Mathematica Bohemica, Vol. 140 (2015), No. 1, 71-80

Persistent URL: http://dml.cz/dmlcz/144180

Terms of use:

© Institute of Mathematics AS CR, 2015

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ*: *The Czech Digital Mathematics Library* http://dml.cz

SEVERAL REFINEMENTS AND COUNTERPARTS OF RADON'S INEQUALITY

Augusta Rațiu, Cluj-Napoca, Nicuşor Minculete, Brașov

(Received December 17, 2012)

Abstract. We establish that the inequality of Radon is a particular case of Jensen's inequality. Starting from several refinements and counterparts of Jensen's inequality by Dragomir and Ionescu, we obtain a counterpart of Radon's inequality. In this way, using a result of Simić we find another counterpart of Radon's inequality. We obtain several applications using Mortici's inequality to improve Hölder's inequality and Liapunov's inequality. To determine the best bounds for some inequalities, we used Matlab program for different cases.

Keywords: Radon's inequality; Jensen's inequality; Hölder's inequality; Liapunov's inequality

MSC 2010: 26D15

1. Introduction

Most recent theoretical results related to inequalities include: generalized vector variational-type inequalities [9], Jensen type inequalities [1], Hölder's inequality [17] or weighted norm inequalities [13]. The reader can find in the literature many applications of these inequalities. In the sequel, we focus on inequalities that employ Jensen's inequality.

Let $\mathbf{a} = (a_1, a_2, \dots, a_n)$ and $\mathbf{b} = (b_1, b_2, \dots, b_n)$ be *n*-tuples, where $\mathbf{ab} = (a_1b_1, a_2b_2, \dots, a_nb_n)$ and $\mathbf{a}^m = (a_1^m, a_2^m, \dots, a_n^m)$ for any real number m. We write $\mathbf{a} \ge 0$ and $\mathbf{b} > 0$, if $a_i \ge 0$ and $b_i > 0$ for every $1 \le i \le n$.

The author, Augusta Raţiu, wishes to thank for the financial support of the Sectoral Operational Programme for Human Resources Development 2007–2013, co-financed by the European Social Fund, under the project number POSDRU/107/1.5/S/76841 with the title "Modern Doctoral Studies: Internationalization and Interdisciplinarity".

We consider the expression

(1.1)
$$\Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) := \sum_{i=1}^n \frac{a_i^p}{b_i^{p-1}} - \frac{\left(\sum_{i=1}^n a_i\right)^p}{\left(\sum_{i=1}^n b_i\right)^{p-1}}$$

for a real number p > 1 and for n-tuples $\mathbf{a} \ge 0$ and $\mathbf{b} > 0$. Radon proved in [18] the inequality

$$\Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) \geqslant 0,$$

known in the literature as Radon's inequality. Other solutions of this inequality can be found in [8], [10]. A particular case of this inequality is the well known inequality of Bergström (see [2]) which is equivalent to Cauchy-Buniakovski-Schwarz's inequality. Refinements of Bergström's inequality were established by many authors, in particular, by Mărghidanu-Barrero-Rădulescu (see [11]) and Pop (see [16]). In [4] we can find interesting applications of these inequalities developed by Ciurdariu. In [12], Mortici studies another refinement of Radon's inequality, namely

(1.3)
$$\Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) \geqslant T_n^{[p]}(\mathbf{a}; \mathbf{b}) := (p-1) \max_{1 \le i < j \le n} \frac{(a_i + a_j)^{p-2} (a_i b_j - a_j b_i)^2}{b_i b_j (b_i + b_j)^{p-1}}$$

for every $n \ge 2$, p > 1, $a_i \ge 0$, $b_i > 0$, $1 \le i \le n$. We remark that Radon's inequality implies Hölder's inequality (see [3], [14]), by a simple change of variables $a_i = x_i y_i$ and $b_i = y_i^{p/(p-1)}$, where p > 1, $x_i \ge 0$, $y_i > 0$ and $1 \le i \le n$, so that we have

(1.4)
$$\left(\sum_{i=1}^{n} x_i^p\right)^{1/p} \left(\sum_{i=1}^{n} y_i^q\right)^{1/q} \geqslant \sum_{i=1}^{n} x_i y_i,$$

where 1/p + 1/q = 1. If we replace in Radon's inequality $a_i = x_i^s$, $b_i = x_i^r$, and p = (r-t)/(r-s) for the real numbers r > s > t > 0, $1 \le i \le n$, we obtain Liapunov's inequality (see [3], [14]):

$$\left(\sum_{i=1}^{n} x_i^t\right)^{r-s} \left(\sum_{i=1}^{n} x_i^r\right)^{s-t} \geqslant \left(\sum_{i=1}^{n} x_i^s\right)^{r-t},$$

where $x_i > 0$ for all $1 \le i \le n$.

2. Main results

In [6], Dragomir and Ionescu proved a reverse of Jensen's inequality:

Theorem 2.1. Let $f: I \subseteq \mathbb{R} \to \mathbb{R}$ be a differentiable convex mapping on \mathring{I} (\mathring{I} is the interior of I), $x_i \in \mathring{I}$, $p_i \geqslant 0$ (i = 1, ..., n) and $\sum_{i=1}^n p_i = 1$. Then we have the inequality

$$(2.1) 0 \leqslant \sum_{i=1}^{n} p_i f(x_i) - f\left(\sum_{i=1}^{n} p_i x_i\right) \leqslant \sum_{i=1}^{n} p_i x_i f'(x_i) - \sum_{i=1}^{n} p_i x_i \sum_{i=1}^{n} p_i f'(x_i),$$

where f' is the derivative of f on \mathring{I} .

In [5], Dragomir obtained another counterpart of Jensen's inequality:

Theorem 2.2. With the above assumptions for f and if m, $M \in \mathring{I}$, $m \leqslant x_i \leqslant M$ (i = 1, ..., n) we have

(2.2)
$$0 \leqslant \sum_{i=1}^{n} p_i f(x_i) - f\left(\sum_{i=1}^{n} p_i x_i\right) \leqslant \frac{1}{4} (M - m)(f'(M) - f'(m)).$$

For $b_i > 0$, i = 1, ..., n, if we take $p_i = b_i / \sum_{i=1}^n b_i$, then we have the condition $\sum_{i=1}^n p_i = 1$. Therefore, inequalities (2.1) and (2.2) can be written in the following form:

(2.3)
$$0 \leqslant \sum_{i=1}^{n} b_{i} f(x_{i}) - \left(\sum_{i=1}^{n} b_{i}\right) f\left(\frac{\sum_{i=1}^{n} b_{i} x_{i}}{\sum_{i=1}^{n} b_{i}}\right) \\ \leqslant \sum_{i=1}^{n} b_{i} x_{i} f'(x_{i}) - \frac{\left(\sum_{i=1}^{n} b_{i} x_{i}\right) \left(\sum_{i=1}^{n} b_{i} f'(x_{i})\right)}{\sum_{i=1}^{n} b_{i}},$$

and

(2.4)
$$0 \leqslant \sum_{i=1}^{n} b_{i} f(x_{i}) - \left(\sum_{i=1}^{n} b_{i}\right) f\left(\frac{\sum_{i=1}^{n} b_{i} x_{i}}{\sum_{i=1}^{n} b_{i}}\right)$$
$$\leqslant \frac{1}{4} (M - m) (f'(M) - f'(m)) \sum_{i=1}^{n} b_{i},$$

Theorem 2.3. For every $n \ge 2$, $p \ge 1$, $a_k \ge 0$, $b_k > 0$, $1 \le k \le n$, the following inequalities hold:

$$(2.5) 0 \leqslant \Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) \leqslant p \left(\Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) - \frac{\sum_{i=1}^n a_i}{\sum_{i=1}^n b_i} \Delta_n^{[p-1]}(\mathbf{a}; \mathbf{b}) \right),$$

and

(2.6)
$$0 \leqslant \Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) \leqslant \frac{p}{4} (M - m) (M^{p-1} - m^{p-1}) \sum_{i=1}^n b_i,$$

where $m \leq a_i/b_i \leq M$, for $i = 1, \ldots, n$.

Proof. First, we consider the function $f: I \to \mathbb{R}$, defined by $f(x) = x^p$, where $p \ge 1$. Since $f''(x) = p(p-1)x^{p-2} \ge 0$, we conclude that the function f is convex. By (2.3), (2.4) and taking $x_i = a_i/b_i$, $i = 1, \ldots, n$, we have

$$(2.7) 0 \leqslant \sum_{i=1}^{n} \frac{a_i^p}{b_i^{p-1}} - \frac{\left(\sum_{i=1}^{n} a_i\right)^p}{\left(\sum_{i=1}^{n} b_i\right)^{p-1}} \leqslant p \left(\sum_{i=1}^{n} \frac{a_i^p}{b_i^{p-1}} - \frac{\sum_{i=1}^{n} a_i}{\sum_{i=1}^{n} b_i} \sum_{i=1}^{n} \frac{a_i^{p-1}}{b_i^{p-2}}\right),$$

and

$$(2.8) 0 \leqslant \sum_{i=1}^{n} \frac{a_i^p}{b_i^{p-1}} - \frac{\left(\sum_{i=1}^{n} a_i\right)^p}{\left(\sum_{i=1}^{n} b_i\right)^{p-1}} \leqslant \frac{p}{4} (M-m)(M^{p-1} - m^{p-1}) \sum_{i=1}^{n} b_i.$$

Using the notation (1.1), i.e.,

$$\Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) = \sum_{i=1}^n \frac{a_i^p}{b_i^{p-1}} - \frac{\left(\sum_{i=1}^n a_i\right)^p}{\left(\sum_{i=1}^n b_i\right)^{p-1}},$$

in relations (2.7) and (2.8), we deduce the required inequalities.

Remark 2.1. We observe that Radon's inequality is a particular case of Jensen's inequality. Therefore, we obtained another proof for Radon's inequality.

Remark 2.2. Inequality (2.5) can be written in the following form:

(2.9)
$$p\left(\sum_{i=1}^{n} a_i\right) \Delta_n^{[p-1]}(\mathbf{a}; \mathbf{b}) \leqslant (p-1) \left(\sum_{i=1}^{n} b_i\right) \Delta_n^{[p]}(\mathbf{a}; \mathbf{b}).$$

Writing relation (2.9) for $p=2,3,\ldots,$ and multiplying the relations obtained, we have

$$(2.10) 0 \leqslant \frac{p}{2} \left(\frac{\sum_{i=1}^{n} a_i}{\sum_{i=1}^{n} b_i} \right)^{p-2} \Delta_n^{[2]}(\mathbf{a}; \mathbf{b}) \leqslant \Delta_n^{[p]}(\mathbf{a}; \mathbf{b}),$$

which is another refinement of Radon's inequality.

In [11], we have

$$\Delta_n^{[2]}(\mathbf{a}; \mathbf{b}) \geqslant \max_{1 \leqslant i < j \leqslant n} \frac{(a_i b_j - a_j b_i)^2}{b_i b_j (b_i + b_j)},$$

so, according to inequality (2.10), we deduce

(2.11)
$$\Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) \geqslant \frac{p}{2} \left(\frac{\sum_{i=1}^n a_i}{\sum_{i=1}^n b_i} \right)^{p-2} \max_{1 \le i < j \le n} \frac{(a_i b_j - a_j b_i)^2}{b_i b_j (b_i + b_j)} \geqslant 0,$$

where p is an integer number, $p \ge 2$.

Another refinement of Radon's inequality can be found in [10].

In [7], we find the following results:

Theorem 2.4. Let $f: I \to \mathbb{R}$ be a twice differentiable function such that there exist real constants α and β , $0 \le \alpha \le f''(x) \le \beta$, for any $x \in I$. Then we have

(2.12)
$$\frac{\alpha}{2} \sum_{1 \leqslant i < j \leqslant n} p_i p_j (x_j - x_i)^2 \leqslant \sum_{i=1}^n p_i f(x_i) - f\left(\sum_{i=1}^n p_i x_i\right)$$
$$\leqslant \frac{\beta}{2} \sum_{1 \leqslant i < j \leqslant n} p_i p_j (x_j - x_i)^2,$$

where $p_i > 0$ with $\sum_{i=1}^n p_i = 1$, and $x_i \in I$ for all i = 1, ..., n.

Theorem 2.5. If $\mathbf{a} = (a_1, a_2, \dots, a_n)$ and $\mathbf{b} = (b_1, b_2, \dots, b_n)$ are n-tuples, then we have the inequality

(2.13)
$$\frac{p(p-1)m^{p-2}}{\sum_{i=1}^{n} b_{i}} \sum_{1 \leq i < j \leq n} \frac{(a_{i}b_{j} - a_{j}b_{i})^{2}}{b_{i}b_{j}} \leq \Delta_{n}^{[p]}(\mathbf{a}; \mathbf{b})$$

$$\leq \frac{p(p-1)M^{p-2}}{\sum_{i=1}^{n} b_{i}} \sum_{1 \leq i \leq n} \frac{(a_{i}b_{j} - a_{j}b_{i})^{2}}{b_{i}b_{j}},$$

where $m \leq a_i/b_i \leq M$, p > 1, $a_i \geq 0$, $b_i > 0$, for $i = 1, \ldots, n$.

Proof. If we take $p_i = b_i / \sum_{i=1}^n b_i$, $x_i = a_i / b_i$ for $1 \le i \le n$, and $f(x) = x^p$ in relation (2.12), then we obtain the inequality of the statement.

 ${\rm Remark}$ 2.3. Relation (2.13) of Theorem 2.5 is a new refinement of Radon's inequality.

In [19], Simić proved:

Theorem 2.6. If f is convex on I and $\sum_{i=1}^{n} p_i = 1$, then

(2.14)
$$\max_{1 \leqslant i < j \leqslant n} \left[p_i f(x_i) + p_j f(x_j) - (p_i + p_j) f\left(\frac{p_i x_i + p_j x_j}{p_i + p_j}\right) \right]$$

$$\leqslant \sum_{i=1}^n p_i f(x_i) - f\left(\sum_{i=1}^n p_i x_i\right),$$

and

(2.15)
$$\sum_{i=1}^{n} p_i f(x_i) - f\left(\sum_{i=1}^{n} p_i x_i\right) \leqslant f(a) + f(b) - 2f\left(\frac{a+b}{2}\right)$$

for any $a \leqslant x_i \leqslant b$, $i = 1, \ldots, n$.

We apply this theorem and we will obtain another characterization of Radon's inequality.

Theorem 2.7. For $n \ge 2$, $p \ge 1$ we have the following inequalities:

(2.16)
$$\Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) \geqslant \max_{1 \leqslant i < j \leqslant n} \left[\frac{a_i^p}{b_i^{p-1}} + \frac{a_j^p}{b_i^{p-1}} - \frac{(a_i + a_j)^p}{(b_i + b_j)^{p-1}} \right],$$

and

(2.17)
$$0 \leqslant \Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) \leqslant \left[M^p + m^p - \frac{(M+m)^p}{2^{p-1}} \right] \left(\sum_{i=1}^n b_i \right),$$

where $m \leq a_i/b_i \leq M$, $a_i \geq 0$, $b_i > 0$, $1 \leq i \leq n$.

Proof. We take in Theorem 2.6 $p_i = b_i / \sum_{i=1}^n b_i$, $x_i = a_i / b_i$ for $1 \le i \le n$, and $f(x) = x^p$, which is convex for $p \ge 1$.

Therefore, by simple calculations, we obtain the required inequalities. \Box

Remark 2.4. Inequality (2.16) can be found in [10], but with another proof.

In [15], Pečarić and Perić refined the relation (2.15) as follows:

Theorem 2.8. If $f: [a,b] \to \mathbb{R}$ is a convex function, $x_i \in [a,b]$, i = 1, ..., n and $p_i > 0$ with $\sum_{i=1}^n p_i = 1$, then

(2.18)
$$\sum_{i=1}^{n} p_i f(x_i) - f\left(\sum_{i=1}^{n} p_i x_i\right) \leqslant f\left(a + b - \sum_{i=1}^{n} p_i x_i\right) - 2f\left(\frac{a+b}{2}\right) + \sum_{i=1}^{n} p_i f(x_i) \leqslant f(a) + f(b) - 2f\left(\frac{a+b}{2}\right).$$

Therefore, we will obtain an improvement of inequality (2.17):

Theorem 2.9. We have the inequality

(2.19)
$$0 \leqslant \Delta_n^{[p]}(\mathbf{a}; \mathbf{b}) \leqslant \frac{\left[(M+m) \sum_{i=1}^n b_i - \sum_{i=1}^n a_i \right]^p}{\left(\sum_{i=1}^n b_i \right)^{p-1}} - \frac{(M+m)^p}{2^{p-1}} \left(\sum_{i=1}^n b_i \right) + \left(\sum_{i=1}^n \frac{a_i^p}{b_i^{p-1}} \right),$$

where $m \leqslant a_i/b_i \leqslant M$, $a_i \geqslant 0$, $b_i > 0$, $1 \leqslant i \leqslant n$, $p \geqslant 1$, $n \geqslant 2$.

Proof. Similarly to the proof of Theorem 2.7, we deduce the statement. \Box

The inequalities (2.5), (2.6), (2.13) and (2.17) give us upper bounds for the term $\Delta_n^{[p]}(\mathbf{a}; \mathbf{b})$. We want to study which of these bounds is closer to $\Delta_n^{[p]}(\mathbf{a}; \mathbf{b})$.

We say that inequality $T \leq T_1$ is stronger than inequality $T \leq T_2$ if $T_1 \leq T_2$. To verify the inequalities (2.5), (2.6), (2.13) and (2.17) that are stronger, we use Matlab program for the cases: n = 4, $\mathbf{a} = (1, 1, 1, 2)$, $\mathbf{b} = (2, 2, 2, 1)$, $p \in \{3, 4, 5, 7, 10, 15\}$.

We observe that there are situations in which each of the inequalities (2.5), (2.6), (2.13) and (2.17) are stronger.

Now, for the lower bound of the term $\Delta_n^{[p]}(\mathbf{a}; \mathbf{b})$, we will compare inequalities (2.11) and (2.13). Using Matlab program and the cases presented above, we deduce that there are situations in which any of the inequalities (2.11) and (2.13) are stronger.

3. Several applications

We will use Mortici's inequality to improve Hölder's inequality and Liapunov's inequality.

Lemma 3.1. For every real numbers a > 0, $b \ge 0$ and p > 1, the following inequality holds:

(3.1)
$$(a^p + b)^{1/p} \geqslant a + \frac{b}{p(a^p + b)^{(p-1)/p}}.$$

Proof. For b = 0, we obtain the equality in relation (3.1).

For b > 0, we consider the function $f: [a^p, a^p + b] \to \mathbb{R}$, defined by $f(x) = x^{1/p}$. It follows that

$$f'(x) = \frac{1}{px^{(p-1)/p}}.$$

Applying Lagrange's Theorem, we have that there is $c \in (a^p, a^p + b)$ such that

$$(a^p + b)^{1/p} - a = \frac{b}{pc^{(p-1)/p}} > \frac{b}{p(a^p + b)^{(p-1)/p}}.$$

Thus, the inequality of the statement is true.

We note that

$$F(a,b,p) := \frac{b}{p(a^p + b)^{(p-1)/p}}.$$

Theorem 3.1. We have the inequalities

(3.2)
$$\left(\sum_{k=1}^{n} x_{k}^{p}\right)^{1/p} \left(\sum_{k=1}^{n} y_{k}^{q}\right)^{1/q}$$

$$\geqslant \sum_{k=1}^{n} x_{k} y_{k} + \left(\sum_{k=1}^{n} y_{k}^{q}\right)^{1/q} F\left(\frac{\sum_{k=1}^{n} x_{k} y_{k}}{\left(\sum_{k=1}^{n} y_{k}^{q}\right)^{1/q}}, T_{n}^{[p]}(\mathbf{x}\mathbf{y}; \mathbf{y}^{q}), p\right),$$

where p > 1, $x_k \ge 0$, $y_k > 0$, $1 \le k \le n$, 1/p + 1/q = 1, and

(3.3)
$$\left(\sum_{k=1}^{n} x_{k}^{t}\right)^{r-s} \left(\sum_{k=1}^{n} x_{k}^{r}\right)^{s-t} \\ \geqslant \left(\sum_{k=1}^{n} x_{k}^{s}\right)^{r-t} + \left(\sum_{k=1}^{n} x_{k}^{r}\right)^{s-t} F\left(\frac{\left(\sum_{k=1}^{n} x_{k}^{s}\right)^{r-t}}{\left(\sum_{k=1}^{n} x_{k}^{r}\right)^{s-t}}, T_{n}^{[p]}(\mathbf{x}^{s}; \mathbf{x}^{r}), \frac{1}{r-s}\right),$$

where s+1>r>s>t>0 are real numbers and $x_k\geqslant 0$ for any $1\leqslant k\leqslant n$.

Proof. Using inequality (1.3) for $\mathbf{a} = \mathbf{x}\mathbf{y}$ and $\mathbf{b} = \mathbf{y}^{p/(p-1)}$, where p > 1 and $\mathbf{x} \ge 0$, $\mathbf{y} > 0$, we obtain

$$\Delta_n^{[p]}(\mathbf{x}\mathbf{y};\mathbf{y}^{p/(p-1)}) \geqslant T_n^{[p]}(\mathbf{x}\mathbf{y};\mathbf{y}^{p/(p-1)}) \geqslant 0$$

which is equivalent to the inequality

$$\sum_{k=1}^{n} x_{k}^{p} \geqslant \left(\frac{\sum_{k=1}^{n} x_{k} y_{k}}{\left(\sum_{k=1}^{n} y_{k}^{q}\right)^{1/q}}\right)^{p} + T_{n}^{[p]}(\mathbf{x}\mathbf{y}; \mathbf{y}^{q}),$$

where 1/p + 1/q = 1.

We apply Lemma 3.1 for $a = \sum_{k=1}^n x_k y_k / \left(\sum_{k=1}^n y_k^q\right)^{1/q}$ and $b = T_n^{[p]}(\mathbf{x}\mathbf{y};\mathbf{y}^q)$, which implies the inequality

$$\left(\sum_{k=1}^{n} x_{k}^{p}\right)^{1/p} \geqslant \frac{\sum_{k=1}^{n} x_{k} y_{k}}{\left(\sum_{k=1}^{n} y_{k}^{q}\right)^{1/q}} + F\left(\frac{\sum_{k=1}^{n} x_{k} y_{k}}{\left(\sum_{k=1}^{n} y_{k}^{q}\right)^{1/q}}, T_{n}^{[p]}(\mathbf{x}\mathbf{y}; \mathbf{y}^{q}), p\right).$$

This proves the inequality of the statement. In inequality (1.3), if we take $\mathbf{a} = \mathbf{x}^s$, $\mathbf{b} = \mathbf{x}^r$, and p = (r - t)/(r - s), then it follows that $\Delta_n^{[p]}(\mathbf{x}^s; \mathbf{x}^r) \geqslant T_n^{[p]}(\mathbf{x}^s; \mathbf{x}^r) \geqslant 0$, which implies the inequality

$$\sum_{k=1}^{n} x_k^t \geqslant \left(\frac{\left(\sum_{k=1}^{n} x_k^s\right)^{r-t}}{\left(\sum_{k=1}^{n} x_k^r\right)^{s-t}}\right)^{1/(r-s)} + T_n^{[p]}(\mathbf{x}^s; \mathbf{x}^r).$$

Now, by raising to the power r-s and by simple calculations, we deduce the required inequality.

Remark 3.1. Inequality (3.2) is an improvement of Hölder's inequality and inequality (3.3) is an improvement of Liapunov's inequality.

References

- [1] R. P. Agarwal, S. S. Dragomir: A survey of Jensen type inequalities for functions of self-adjoint operators in Hilbert spaces. Comput. Math. Appl. 59 (2010), 3785–3812; Corrigendum. Comput. Math. Appl. 61 (2011), 2931.
- [2] H. Bergström: A triangle-inequality for matrices. Den 11te Skandinaviske Matematikerkongress, Trondheim, 1949. Johan Grundt Tanums Forlag, Oslo, 1952, pp. 264–267.
- [3] P. S. Bullen: Handbook of Means and Their Inequalities. Mathematics and Its Applications 560, Kluwer Academic Publishers, Dordrecht, 2003.
- [4] L. Ciurdariu: On Bergström inequality for commuting Gramian normal operators. J. Math. Inequal. 4 (2010), 505–516.
- [5] S. S. Dragomir: A converse result for Jensen's discrete inequality via Grüss' inequality and applications in information theory. An. Univ. Oradea, Fasc. Mat. 7 (1999/2000), 178–189.
- [6] S. S. Dragomir, N. M. Ionescu: Some converse of Jensen's inequality and applications. Rev. Anal. Numér. Théor. Approx. 23 (1994), 71–78.
- [7] S. Furuichi, N. Minculete, F.-C. Mitroi: Some inequalities on generalized entropies. J. Inequal. Appl. (electronic only) 2012 (2012), Article No. 2012:226, 16 pages.
- [8] B. Gavrea: On an inequality for convex functions. Gen. Math. 19 (2011), 37–40.
- [9] S.-J. Jiang, L.-P. Pang, J. Shen: Existence of solutions of generalized vector variational-type inequalities with set-valued mappings. Comput. Math. Appl. 59 (2010), 1453–1461.
- [10] D. Mărghidanu: Generalizations and refinements for Bergström and Radon's inequalities. J. Sci. Arts 8 (2008), 57–62.
- [11] D. Mărghidanu, J. L. Díaz-Barrero, S. Rădelescu: New refinements of some classical inequalities. Math. Inequal. Appl. 12 (2009), 513–518.
- [12] C. Mortici: A new refinement of the Radon inequality. Math. Commun. 16 (2011), 319–324.
- [13] N. D. V. Nhan, D. T. Duc, V. K. Tuan: Weighted norm inequalities for a nonlinear transform. Comput. Math. Appl. 61 (2011), 832–839.
- [14] C. Niculescu, L.-E. Persson: Convex Functions and Their Applications. A Contemporary Approach. CMS Books in Mathematics/Ouvrages de Mathématiques de la SMC 23, Springer, New York, 2006.
- [15] J. Pečarić, J. Perić: Remarks on the paper "Jensen's inequality and new entropy bounds" of S. Simić. J. Math. Inequal. 6 (2012), 631–636.
- [16] O. T. Pop: About Bergström's inequality. J. Math. Inequal. 3 (2009), 237–242.
- [17] H. Qiang, Z. Hu: Generalizations of Hölder's and some related inequalities. Comput. Math. Appl. 61 (2011), 392–396.
- [18] J. Radon: Theorie und Anwendungen der absolut additiven Mengenfunktionen. Wien. Ber. 122 (1913), 1295–1438. (In German.)

[19] S. Simic: Jensen's inequality and new entropy bounds. Appl. Math. Lett. 22 (2009), 1262–1265.

Authors' addresses: Augusta Raţiu, Babeş-Bolyai University, Faculty of Mathematics and Computer Science, No. 1 Mihail Kogalniceanu Street, RO-400084 Cluj-Napoca, Romania, e-mail: augu2003@yahoo.com; Nicuşor Minculete, Transilvania University, Faculty of Mathematics and Computer Science, No. 50 Street Iuliu Maniu, RO-500091 Braşov, Romania, e-mail: minculeten@yahoo.com.